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ifr?g/ﬁrt ifr?g/ﬁrt ﬁ?i;’/jl;:tt ifr?g/ﬁrt WA % ﬁ?i;’/jl;:tt ifr?g/ﬁrt
T ik 28 4F JiE 50,167 5.5/ 11,159 | A 2.3 142,547 6.7/ 50,362 | A 1.5 4.50 2.83 4,541 | A 5.0 5917 | A 4.7
T 1K 29 4E JiE 49,319 | A 1.7 11,178 0.2) 141,018 A 1.1 51,273 1.8 441 2.75 4,468 | A 1.6 5,729 | A 3.2
- B 30 4F i 47,404 | A 3.9 11,017 | A 1.4 136,868 A 2.9 51,421 0.3 4.30 | 2.66 4,281 A 4.2 5,457 | A 4.7
R34 2H 47,529 | A 4.3] 10,675 | A 3.7 137,424 A 1.7| 48,005 1.0, 4.45 | 2.86 4,035 A 3.9  5165| AO0.7
3A 48,322 | A 9.4| 10,909 | A 3.3 141,743 A 3.0 50,416 1.7 4.43| 2.81 4,577 A 2.3 5,754 A 4.3
41 47,093 1.5/ 15,116 | A 4.1 136,456 A 3.6/ 55,031 0.8 3.12 | 2.48 4,674 A 0.8 5990  AO0.1
AFICH 5H 44,996 | A 4.5 12,484 | A 7.2 133,928 A 4.2| 56,417 A 0.3 3.60 2.37 4,371 A 8.1 5730 | A 5.3
64 46,927 | A 2.0 10,858 1.8/ 133,638 A 1.5 56,699 0.9 4.32| 2.36 4,286 A 3.6 5447 | A55
71 47,268 3.3 11,171 9.9 133,382 A 0.6 54,813 3.8 4.23 | 2.43 4,247 0.8 5,538 2.0
8A 44,303 | A 5.9 9627 | A6.2 131,958 A 2.1 52,909 4.0/ 4.60  2.49 3,768 | A 7.1 4,755 | A 8.0
9A 43,524 | A 2.8 10,847 10.5| 129,780 = A 1.9 52,837 6.2 4.01 | 2.46 3,842 | A 53 4908 AS5.1
104 59,212 8.6/ 10,875 A 10.5| 133,192 A 3.0 53,120 2.8/ 5.44 | 2.51 4,267 A 54| 5438 AB57
114 42,397 | A5.9 9,786 | A 1.9 133,136 A 3.4 52,276 2.6/ 4.33 | 2.55 3,920 A 9.6 4,993 | A 96
121 47,746 12.1) 17,937 6.1 136,096 0.3] 49,317 2.9 6.02 | 2.76 3,843 | A 3.9 4840 A5.0
A2 1A 42,941 | A 17.0/ 11,331 4.1| 128,004 A 45 50,142 6.1 3.79 | 2.55 2,780 | A 24.3 3,546 | A 22.9
2A 42,370 | A 10.9] 9,998 | A 6.3 128,627 A 6.4| 50,026 4.2| 4.24 | 257 3,019 | A 25.2 3,976 A 23.0
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